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QUESTION 1

Which two ACI features assist with application service-level assurance? (Choose two.) 

A. tenant health scores 

B. Layer 4 to Layer 7 service integration 

C. Cisco APIC database sharding 

D. fabric health scores 

E. QoS 

Correct Answer: AD 

 

QUESTION 2

The use of the Cisco Bi-Di 40G transceiver provides cost effective transition to a 40G ACI fabric through transmission
over which cabling plant? 

A. Category 6a copper 

B. single pair of OM3/OM4 MM fiber 

C. single pair of SM fiber 

D. Twinax copper 

Correct Answer: B 

 

QUESTION 3

Which two options are benefits of the ACI fabric beyond forwarding traffic from physical and virtual servers? (Choose
two.) 

A. zero-touch provisioning of fabric switches 

B. centralized control plane 

C. decoupling of underlay and overlay 

D. applying policy independently of forwarding 

E. increased performance due to full-mesh topology 

Correct Answer: AD 

 

QUESTION 4
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Which network devices should be connected to the spine? 

A. Cisco APIC controllers 

B. leaf devices 

C. leaf and spine devices 

D. centralized security and load-balancing services for the fabric 

Correct Answer: B 

 

QUESTION 5

Which statement about OpenStack and ACI is true? 

A. Integration can leverage a Cisco APIC plug-in or a Group Policy plug-in. 

B. The Nova ML2 plug-in maps APIs into the ACI policy model. 

C. The Cisco APIC driver communicates northbound using the OpFlex plug-in. 

D. The Cisco APIC driver is used in place of an OVS driver to communicate to the virtual machine managers. 

Correct Answer: A 
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